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Section A

Answer all questions on four extracts taken from two options studied.

Option A: Homer

Extract 1

(d)

Homer, lliad 22.224-246

225

230

235

240

245

dG @at’ ABnvain, 6 & éneibeto, xaipe 8¢ Buud,
ot & d&p’ émi pehing xaAkoyAwxtvog épelobeis.

] 8 dpa tov pev élewne, kixoato 8’ “Extopa diov
AnipoPw €ikvia dépag kat ATelpéa Qwvnv-

ayxod &’ lotapévn Enea nrepodevTa Tpoonvda-
N0l 1} paha O oe Praletar wrdg AxtAAedg

dotv épt Ilplapolo mooiv Taxéeoot Siwkwv:

AN’ dye On otéwpev kal dAe§wueoBa pévovteg.
v 8 adte mpooéetne péyag kopvbaiolog "Extwp-
“Anigof’ N wév pot T mdpog oA @iltatog foba
yvot@v odg Exapn 76¢ Ilpiapog téke maidag:

vov &’ €Tt kal udAAov voéw @peat Tiproacal,

0G €TANG €ued eivex’, émel i0eg dpOaApoiot,
Teiyeog ¢§eNOely, GANot 8’ évtoade pévovol

Tov 8’ avte mpoogetne Bed YAavk®mig ABnvn-
NOET’ N uev TOANA TTaThp Kai TOTVIAL U TP
AiooovO’ é€eing youvoipevol, apei 8’ étaipot,
avBt péverv: Tolov yap DIOTPOUEOVTLY dmavTeg:
AN’ €pog €vOo0L Buuog éteipeto EVOET Auypd.
vov 8 100g pepadte paxwyeda, pn 8¢ Tt Sodpwv
g€oTw @eldwAn, tva eidopev &l kev AxiANedg

V@I katakteivag Evapa BpotdevTa @épntat

vijag EmL YAagupdg, N kev 0@ Sovpi Saunn”

List three commands that Athena (posing as Deiphobus) gives to Hector. Support your
answer by quoting the Greek text.

Outline, with two examples, how family ties are relevant in the dialogue between
Hector and Athena (posing as Deiphobus). Quotation of the Greek text is not required.

Translate 0et’ i pev ... dnavreg (lines 239-241).

Write out and scan éotw ... @épntat (lines 244—-245). Indicate elisions where necessary.

[3]

[2]
[3]

(2]
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Option A: Homer

Extract 2

2. (a)

(b)

(c)

Homer, lliad 16.148-167

@ 8¢ kai Avtopédwv maye Quyov wkéag inmovg
EavBov kat Bahiov, T® dpa mvotfjot tetéodny,

150  tovg €teke Zeupw avéuw Apmuta [Toddpyn
Pookouévn Aepdve mapd poov Qxeavoio.
¢év 8¢ mapnopinotv apvpova IIndacov tet,
10V pd ot ‘Hetiwvog EAav moAwv fyay” AxtAles,
06 kal Ovnrog éwv €ned’ inmotg dBavdrolot.

155 Mvopdovag 8 dp’ émoyopevog Owpniev AxithAedg
TAVTAG Ava KALolag oV TeEvXEOLY: of 8¢ AVUKOL (DG
WpoQAyoL, Toloiv Te TEPL PPecty AomeToG AAKN,

ol T" ENa@ov Kepaov péyav obpeat dSNWoaVTEG
dantovotv- maowv 8¢ mapniov alpatt povov:

160 kai T’ dyeAndov laotv &mo kprvng pelavodpov
Aayovteg yAwoonotv dpatfjorv péhav Hdwp
dkpov épevyopevol ovov alpatog: &v 8¢ te Bupog
ot 0eotv dtpopog €oTi, meploTtévetal O¢ TE yaoTnp:
Toiot Mupudovwv nynropeg 116¢ pédovteg

165 aug’ ayabov Oepanovta modwkeog Aiaxidao
pwovt’- év &’ dpa toiotv apriiog lotat’ AxiAAevg,
OTpOVWV IMMoVG Te Kal Avépag AoTOIWTAG.

Describe how the harpy Podarge is represented here and state how she contributes to
the swiftness of the two immortal horses. Quotation of the Greek text is not required. [2]

Describe the two actions performed by Achilles in the second part of the extract
(lines 155-167). Support your answer by quoting the Greek text. [2]

Analyse how Homer’s literary art conveys a sense of swiftness and brutality in this
extract. Support your answer by quoting the Greek text. [6]

Turn over
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Option B: History

Extract 3 Herodotus, The Histories 7.235

10

(@)

(d)

0 8 dpeifeto “@ Paciled, ei pev 8 cvpPfovieveai pot TpoBVWG, Sikatdv e coi €0t paletv TO
dptoTov- £l TG VALTIKAG 0TPATLAG Véag Tpinkooiag drnooteilelag émi Thv Adkawvav xawpny. €0t
0¢ én’ avTf) vijoog émikelpévn Tf obvopa éoti KoOnpa, v Xilwv &vijp map’ fUiv copwtatog
yevouevog képdog pelov &v En eivar ZrapTijtnot katd tig Oaldoong katadedvkéval pdAAov
1} Oriepéxety, aiel Tt TPoodok®v &n’ avtiig TotovTo £0ecbat oiov Tot £yw E€nyéopat, oOTL TOV

00V 0TONOV TIPOELdWG, AAAA TTAVTA OpOIWG QoPedeEVOG AvOpDY OTOAOV. €K TAVTNG TAG VOOV
Oppwpevol poPedvtwy Tovg Aakedatloviovg. mapoikov 6¢ TOAEUOV oL E6VTOG oikniov,

ovdev Sewvol Eoovtal tot un TG AAANG EANAS0g dAiokopévng vmo tod melod Ponbéwat TadTy.
katadovAwdeiong 6¢ tiig AAANG EANAdog dobeveg 110N 10 Aakwvikov podvov Aeinetat. fjv 8¢
TadTa un moténg, tade toL mpoadoka éoeabat. €oti TG [Tedomovvroov ioBuog otevog: év
TOUTW TQ YWwpw mavtwy [lehomovvnoiwv cuvopoodvtwy éml ool pdxag ioxvpotépag GAAAg TOV
yevopevéwy mpoodékeo €oeabai Tol. €kelvo 8¢ motoavTt dpaxnti 8 te ioBpog 00ToG Kal ai TOALeG
TPOOYWPTo0VOoL”

State Chilon’s opinion of Cythera and what he feared. Support your answer by quoting
the Greek text. [2]

v Adkatvay xwpnv ... KoOnpa (lines 2-3). Locate these two places with precise
geographic references. [2]

Explain how the conquest of Cythera could help the Persians defeat the allies of the
Spartans. Quotation of the Greek text is not required. [3]

Translate €07t ... £0e00ai ol (lines 10-12). [3]
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Option B: History

Extract 4 Herodotus, The Histories 1.32.5-8

10

éuot 8¢ o kai MAovTEely puéya @aiveat kai factdedg TOADV elvat avBpwnwv- ékeivo 8¢ 10 eiped
He, oUKw o€ Eym Aéyw, Tpiv TEAEVTHOAVTA KAADG TOV al@va moBwuat. o0 yap Tt 6 péya TAOVGL0G
HaALov ToD ém’ fuépnv €xovtog OAPLWTEPOG £0TL, £l Uy ol TOXN €mioTolTo mavTa Kakd ExovTa

e Televtijoail TOV Biov. moAhol puev yap (amhovtot &vBpwmwv avorPiot ioi, moAlot 8¢ petpiwg
gxovteg Biov edTLXEEG. O peV On) péya TAoVGL0G dvoAPLog &g dvoiot poéyel TOD eDTLXEOG HODVOY,
0vTtog 8¢ Tod mMlovaiov kai AvorBov modoiot O pev Embupiny ékteléoat kai Atny peydny
npoonecodoav évelkal SuvatwTepog, 6 O¢ Tolo1de mpoéxel Ekeivov- ANV pEV Kai EmBvpiny ovk
Opoiwg Suvatog €xeivw éveikat, TadTta 8¢ 1) e0TVYIN ol dnepvKel, dmnpog &¢ éoTi, dvovoog, dmabng
KaK®V, ebmatg, eveldng. el 8¢ mpog TovTOLoL Tt TENEVTNHON TOV Plov €D, 00TOG EKEIVOG TOV OV
(ntéeis, 6 OAPLog kekAfjoat &log €oti- mpiv &’ &v TelevTrion, EMOXELY, Unde kakéey kw SABLov
AN evTuxéa. TA TAvTa pév vuv Tadta ovAAaPely dvBpwmov éovta ddhvatov £oTi, domEp WP
ovdepia Katapkéel TAVTa EWLTH Tapéxovoa.

Explain in what two ways the rich but unhappy man (mAovotog dvoipiog) surpasses the
fortunate man (evtuyxng). Support your answer by quoting the Greek text. [2]

State what two conditions must be in place for a man to be called happy (6Aptog).
Quotation of the Greek text is not required. [2]

Describe how Herodotus uses his literary technique to highlight the contrast between
riches and happiness. Support your answer by quoting the Greek text. [6]

Turn over
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Option C: Tragedy

Extract 5 Sophocles, Electra 764-787

XO.  ¢ed @ed- 10 mav 81 deomoTaLoL Toig akat
765 npoppLlov, WG Eotkev, EpBaptat yévog.
KAY. @ Zeb, Ti tadta, motepov e0TUXi Aéyw,
1 detva pév, képdn O¢; Aumnpdg &’ Exel,
el To1g épavTiig TOV Piov 0W{w KaKoig.
[TAL. i d ®8 dBvupeic, @ yoval, Td vOv Aoyw;
770  KAY. dewvov 10 tikTely €0Tiv: 000¢ yap Kak®dg
TIAOXOVTL HI00G OV TEKT) IPOOYiyVETAL.
ITAL.  patnv dp’ fuelg, wg 0LKeV, HKOUEV.
KAY. obtot patny ye: mdg yap &v patnyv Aéyolg,
el pot Bavovtog miot’ Exwv Tekpnpla
775 npooiiABeg, 60TIG TG EURG YLXAS YEYWS,
HAOTOV ATTOOTAG Kal TPOPRG EURG, PUYAg
ane§evodTo kai W, £mel Tijode xOovog
¢ENAOev, oOKET €ldev, Eykaldv 8¢ pot
@OVoUG atpwovg deiv’ emmmeilel Telelv;
780 »oT’ obTe VUKTOG Umtvov 0T’ €€ fjuépag
gue oteydlewv ndLYV, AAN 6 pooTaTOV
Xpovog diijyé p aigv wg Bavovpévny.
vov &’ —nuépa yap o™ amyAlaypat ¢opov
TpoOG oS’ €xeivov 0’ 1{de yap peilwv PAAPN
785 Ebvotkog Ny pot, TodHOV ékmivovo” del
YuxNG dkpatov aipa—vov &’ Eknhd mov
TOV o6’ amet\@v obvey’ fuepevoOUEV.

5. (a) @ Zed... mpooyiyvetal (lines 766-771). Describe Clytemnestra’s reaction to the news
she has heard and list the two reasons she gives for her reaction. Quotation of the
Greek text is not required. [3]

(b) Identify two passages or phrases used by Clytemnestra to describe Orestes. Support
your answer by quoting the Greek text. [2]

(c) vovd ... nuepevoopev (lines 783-787). Describe Clytemnestra’s response to the news
of Orestes’s death. Support your answer by quoting the Greek text. [2]

(d) Translate @ot’... Bavovpuévny (lines 780-782). [3]



Option C: Tragedy

Extract 6

(b)

(c)

-7- M17/2/GREEK/HP2/ENG/TZ0/XX

Euripides, Electra 1030-1053

1030

1035

1040

1045

1050

Write out and scan tig ... mappnoia (lines 1048-1049). Indicate elisions where

necessary.

List two reasons why Clytemnestra turned to Aegisthus. Support your answer by

XO.

¢mi Tolode Toivuv Kaimep HOKNUEVT

OVK NYPLOUNV 00" &V EKTAVOV TIOGLY-

AN’ NAD” Exwv pot pauvad’ EvBeov kdpnv
AéxTpolg T' €meloé@prke, Kal vopga 600

v Tolotv adTolg dwHaoty KaTeiXOpeV.

HDPOV HEV OVV YUVAIKEG, OVK SAAWG Aéyw:
Otav §’, DOVTOG TODY’, AUAPTAVY TTOOLG
Tdvdov mapwoag Aéktpa, pipeiobar Oéhet
yovi oV dvdpa xdtepov ktaobat gilov.
KATELT” €V UV O YOYoG§ AaumpoveTal,

oi 8" aitiot T@VS™ 00 kADoVO ™ Avdpeg KAK®G.
el 0" €k dopwv fipraoto Mevérewg Aabpa,
Ktavelv u’ Opéotny Xpfjy, KAoLyviTng Mooty
Mevélaov wg owoatpl; 606 08 TG AT
NvéoxXeT’ &v TadT’; eita TOV pév od Bavelv
KTelvovTa xpijv Tdp’, €ue 8¢ mpog keivov mabeiv;
Extewy’, £Tpé@Ony fvmep v Mopevoiov
TPOG TOVG €KeiVyw TTOAEHIOVG. QidwV yap &v
Tig av matpOG 00D POVOV EKOLVWVNOE oL
AEy’, el T xprCets, kavtiBeg mappnoia,

Omwg 1¢0vnke 00¢ TaTNp 0K EVOiKWS.
Sixan” ENefag: 1) 8ikn & aloxpg ExeL.
yvvaika yap xpn mavra cvyxwpely mookeL,
s ppeviipne:

quoting the Greek text.

[2]

[2]

Analyse the stylistic means used by Euripides to emphasize Clytemnestra’s argument
that her actions were just.

[6]

Turn over



Option D: Agon

Extract 7

(b)

(c)
(d)
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Aristophanes, Clouds 1055-1074

1065 AA.
1060
AIK.
AA.
1065
AIK.
AA.
1070

elt’ &v ayopd TV StatptPnyv Wéyels éyw 8 Emauva@.

el yap movnpov fy, ‘Ounpog ovdénot’ dv émoiet

Tov Néotop’ ayopntriv &v ovd¢ TovG coPovg dnavtag.
avey ONT’ évtedBev &g Ty YA@TTAY, Tjv 061 pév

oV @not xpijvat Tovg vEoug AoKeTY, Eyw 8¢ QL.

Kal 6WPPOVELY ad @not xpivat Vo Kak® HeyioTw.

¢mel ob OLd TO CWPPOVELV T TwTOT  €ldeg 1ON

dyaBav Tt yevopevov, pacov, kai w’ é&éleyEov einwv.
noANoic. 6 yodv IInkedg ENafe S TodTO TNV paxalpav.
paxatpav; dotelov ye képdog ENafev 6 kakodaipwy.

YmépPohog &’ obk T@V AVXvwV TAETV | TAAavTa TOAAA

giAnge S movnpiav, AN’ o0 pa Ai” ob pdyatpav.

Kal TV @€ty y° €ynpue did 10 cw@povelv 6 TInAevg.
K4t dmoAmodod y’ adTOv et - 0b yap fv OPPLOTNG
o0’ 1186 €v Tolg oTpOHACLY THV VOKTA TTavvuyilety-
yvuvi| 8¢ owvapwpovpévn xaipet- o0 §° i Kpovinmog.
OKEYaL Yap @ HELPAKLOV €V T OWPPOVELV dmavTa
dveotwy, 10ovav 0° dowv uéAhelg dnootepeiodal,
Taidwv yuovauk®v KoTTafwv dYywv moOTwv KIYALoUDV.
Kaitot ti oot (fv &&Lov, Tovtwv ¢av otepndfig;

Analyse the pun in év dyopq ... ayopntrv (lines 1055-1057). Quotation of the Greek

text is not required.

[2]

Analyse the reference to Peleus’s knife (line 1063). Quotation of the Greek text is

not required.

Translate doteiov ...

[3]

naxatpav (lines 1064-1066). [3]

Explain why, according to the Unjust Argument, Thetis left Peleus. Support your answer
by quoting the Greek text. [2]
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Option D: Agon

Extract 8 Thucydides, The Peloponnesian War 4.17

10

Enepyav nuag Aakedatpoviot, ® ABnvaio, mept T@V év Tf} vijow avdp@v mpagovtag 6t &v DUiv Te
W@PéNLLOV OV TO adTO TElBweV Kol HUTY €G TNV EUUPOPAV WG €K TOV TTAPOVTWY KOGHOV HAALoTA
HEAAD ofoetv. ToLG 8¢ AOyoLG HakpoTEPOLG 0D Tapd TO elwBOG unrLVodey, AAN™ émywplov

OV NUIv 00 pev Bpaxeis dpkdaot ur moAloig xpiioBal, mAéoot 8¢ év @ dv katpog 1) StddokovTag
TLTOV TPoVPYOoL AOYyoLG TO S¢ov Tpaoaety. Aafete 8¢ adTolg | ToAepinwg und’ wg d&hvetol
Sidaokdpevol, vopvnoty 6¢ Tod kaA®@g fovhevoacBatl Tpog eidoTag nynodpevol. LUV yap
gvtvxiav v apodoav €§eott kalwg 0¢abal, Exovaot pgv @v kpateite, mpookaPfodot 8¢ Ty Kai
doav, kai pr) mabeiv Omep oi anbwg Tt dyabov AapPavovteg @V AvBpwnwv- aiel yap tod mAéovog
EATLIOL OpéyovTat Sid TO Kol T TapovTa ddoknTwG evTLXoAL 0i¢ O¢ TAgloTal petaBolal ém’
appotepa EuuPePrikaot, Sikalol iot kal drmotdTATOL €lval TAlG edTpayialg: O Tf) T VUETEPQ TTOAEL
O éumerpiav kal UV aAoT™ dv €k ToD €ikOTOG TTPOOoEN.

nept TV €v Tf) vijow avopav (line 1). Briefly describe the event that the Spartans are
referring to and locate the island with precise geographic references. [2]

un mafeiv ... T@v avBpwnwv (line 8). Outline, in the light of the lines that follow, what
the Spartan ambassador suggests might happen to the Athenians. Quotation of the
Greek text is not required. [2]

Discuss the stylistic means used by Thucydides to make the speech of the Spartan
ambassadors persuasive. Support your answer by quoting the Greek text. [6]

Turn over
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Option F: Scientific knowledge

Extract 9 Hippocrates, De aere aquis et locis 2

10

(d)

el yap tadta eidein Tig KAA®G, paliota pev mavta, i 8¢ pr), Ta ye mAelota, ovk &v avtov AavBavol
&G TTOALY AQLKVEOUEVOY, TG &V ATELPOG 1), 0UTE VOOoTHaTa EMYDPLa 0VTE TOV KOWVOV 1) QUOLG,
okoin Tig éoTtv- WoTe un anopeioBot €v Tf) Oepamnein 1OV vovbowv unde diapaptaverv- & eikog €0t
yiveoOat, fiv pn Tig Tadta mpdtepov eldwg mpogpovtion mept EkAOTOL- TOD 8¢ XPOVOL TIPOIOVTOG
Kal ToD éviavtod Aéyol dv, 6kdoa Te VOOTHata HEAAEL TTdyKOLVAL THV TTOALY KATAOXNOELV §j

Bépeog 1 Xeldvog, Okooa Te Idla kaotw kivouvog yiveoharl éx petaBoAfig Tig dtaitng. eidwg
Yap TOV WpEwv TAG HETAPOAAG Kal TOV AOTPWV TAG EMITOAAG Te Kai dvotag, kaBoTL EkaoTov
TOVTWYV Yivetal, ipoetdein v 10 €10 OkoloV Tt péAAeL yiveoBat. obtwg &v Tig €vvoedpevog Kal
TPOYLVWOKWY TOUG KALPOVG LAALOT ™ &v €idein mept £kAoTOL Kal Ta TAEIoTA TVYXAVOL TG DYLEING
Kkai katopBoin ovk éNaxiota €v Tf) TEXVN. el 0 dokéol Tig TadTa peTewpoldya eival, el HeTaoTain
TG yVwung, pabot &v, 6tL ovk Edaxiotov pépog ovpParetal AoTpovoplin &G inTpLkny, AANA TdvY
TAEIOTOV.

State what the doctor must know in order to treat epidemic and individual diseases
respectively. Support your answer by quoting the Greek text. [2]

Translate €idag ... yiveoBal (lines 6-8). [3]

List three phrases that emphasize the importance for the doctor of knowing in advance
what will happen. Support your answer by quoting the Greek text. [3]

Explain the meaning of petewpoloya (line 10) and why knowledge of this is relevant to
medicine. [2]
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Option F: Scientific knowledge

Extract 10
DAL
2Q.

5 OAL
2Q.
10
DAL
2Q.
15
10. (a)

Plato, Phaedrus 270c—e

el pev Inmokpdret ye 1@ t@v AokAnmad®v 8l Tt mbeobat, 000¢ mepl cwuatog dvev Tig
uebodov tavtng.

KAADG yap, @ £Taipe, Aéyet XpT| pévtol Tpog T@ Tmokpdtet TOV Adyov é€etalovta
OKOTIETV €l CLUPWVEL.

@nu.

10 TOlvLV Tept PUoEWG oKkOTEL Ti ToTe Aéyel ITnmokpatng Te kai 6 dAnOn g Adyoc. dp’ ody
@3¢ 8¢l StavoeioBat tept 6TOVODV PUOEWG: TTPWOTOV UEV, ATTAODV T} TTOAVELGEG £0TLY OV TIépL
PovAnoopeda eivat avtol texvikol kat BAAov Suvatol motely, Emetta 8¢, &v pEV AmAODV 7,
okomely TV dVvapy avtod, Tiva Tpog Ti TEPuKeV €ig TO Spav €xov fj Tiva gig TO Tabelv LTO
100, €av 8¢ mAeiw €ldn €xn, TadTa dplOunodpevoy, Omep €@’ £vag, ToDT’ idelv €’ ékdoTov,
TO Ti TOLETY aOTO TEPLKEV T TO Ti Tabelv HTTO TOD;

Kvduvevel, @ ZWKPATEG.

1] yoOv &vev toutwv uébodog éoikol dv womep TvpAod mopeia. GAN™ 00 UnV AMEIKACTEOV
TOV Y TEXVI HETIOVTA OTIODV TVPA® 000€ KWP®, AAAd dTiAOV WG, dv T® TIG TEYXVN AOYOLG
8@, thv ovoiav dei&et dxpBdg TG PUoEWG TOVTOL TIPOG & TOVG AOYOVG TTposoioel EoTat
8¢ mov Yoxn todto.

State in what way the example of Hippocrates is relevant to Socrates’s argument on
the soul. Quotation of the Greek text is not required. [2]

av tw 115 ... mpoooioel (lines 14-15). Describe the person referred to by Plato here,
giving two significant details from the Greek text. [2]

Analyse the argumentative style of the extract, discussing how Plato presents the topic
of scientific method. Support your answer by quoting the Greek text. [6]

Turn over
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Section B

To what extent do you agree with any one of the following prompts? Your answer should demonstrate
your understanding of the prescribed authors, knowledge of broader contexts and critical analysis. [12]

Option A: Homer

11. The narrative of the lliad makes sense of conflict and war, but there is neither celebration nor
condemnation of war.

Option B: History

12. History can repeat itself, but not all of Herodotus’s actors are prepared to learn the lessons of
history.

Option C: Tragedy

13. “Tragedy is an imitation of an action that [...] through pity and fear, brings a purification of these
emotions” (adapted from Aristotle, Poetics).

Option D: Agon

14. The literary agon is the resolution of a conflict that cannot be resolved in the real world.

Option F: Scientific knowledge

15. The birth of science in ancient Greece is the birth of scientific method.




